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A (C )
A. 20° B. 40° C. 20°8%40° D. 30°8{10°



fik: £BOC Tt LZAOB W

"+ ZAOB =60°, HA V5128 OM

.. ZMOB =30°

"+ ZBOC =20°, A F5r2 N ON

.. ZBON =10°

.. ZMON = ZMOB — ZBON =30°-10°=20°;
ZBOC {£ ZAOB 4

"+ ZAOB =60°, HA V4128 OM

.. ZMOB =30°

"+ ZBOC =20°, HAM V434N ON

.. ZBON =10°

.. ZMON = ZMOB + ZBON =30°+10°=40° .
Wk C.

= NG

7. WK, OM & ZAOC W*¥-/7r4k, ON & ZBOC [H ¥4 4.
(D twE 1, 24 ZA0BREff, £BOC=60°I}, ZMON [IFEHZEZ /7
(2) K2, 24 LA0B=a, ZBOC=60°f, Fitl ZMON 5 o & x &,

(3) WK 3, 4 LA0OB=a, £ZBOC =, 5 ZMON 5 a . BEHERZL? IR A,

fEH SR Ul B
A A A
M M
M

(0] B (0] B 10, B

N
N N
C
C C
& 1 & 2 & 3

52 AT B



B BEATmER .

8. Cl: W, ZAOBEEM, LAOC=40°, ON & ZAOC KIF-4r2k, OM J& ZBOC WIF-4)
.
(1) 3K ZMON K/
(2) MBif LA0C R/NRA SRS, ZMON HIR/NETR RASAE? A2

B

AT EEbE 53



1. PIRifE % HELK
2. PIRTHE —FHEL

3. 21

4. C

5. 18

6. fift: (1) HAC=8, MEACHIbL, 15
MC:%AC:4

CN=%CB=6

SJMN=MC+NC=4+6=10

(2 MN=a;b

(3) M ECHLEB SAIIN, AC=a, BC=b, fiM. N4HIE AC. BCHF A, 1B

—_1 ——a :—1 :—b

MC—ZAC—Z, NC 2BC >

MN = MC-NC=4_b_a=b
N = N =373 5

_lyr_a _lpc_b
MC=24C=%, NC=2BC=2
. _ _ _Q_g:b—a
ZMN=NC-MC=2-2_b
@45 C LB AB EIH, MN=MC+NC=%+%=a;b

7. fE: (D wWwE 1, - £ZA0B=90°, /BOC =60°
. ZAOC =90° + 60° = 150°
» OM ¥4y ZAOC, ON ¥4y ZBOC
- /MOC = %AAOC ~75°, /NOC = %LBOC = 30°
. /ZMON = /MOC — /NOC =45°

(2) WA 2, LMON=%a

54 AT B



FA-mE

M - Z40B=a, ZBOC =60°
S ZAOC = a +60°
* OM ~¥-53 ZAOC , ON “¥-% ZBOC

- /MOC = %LAOC _ %a +30°, ZNOC = %LBOC —30°

. /MON = /MOC — /NOC = (%a +30°)=30°= %a

6)%@3,AWW:%a,Eaﬁ%,Sﬁ%i¢%%

¥y, -+ ZAOB=a, ZBOC=pf
L LAOC=a+ f
" OM J& ZAOC W For 2, ON & ZBOC W14k

- ZMOC = %LAOC - %(a L)

ZNOC = %LBOC - % Vi

. LMON = ZMOC - ZNOC

Lgep L
= 2@+B)-1p

il /MON :%a

8. fi#t: (1) - ZAOB ZHEHf, LAOC =40°
. Z/BOC = ZAOB + ZAOC =90° + 40° =130°
" OM J& ZBOC W P32k, ON & ZA0C W4k

. /MOC = %430(7 ~65°, /NOC= %moc =20°

. ZMON = ZMOC — ZNOC = 65° —20° = 45°
(2) Y4 LAOC I R/ANRAEBARRY,  ZMON B KNS KA AR
PR

"+ /MON = /MOC — /NOC = %ABOC - % Z40C = %(LBOC _ /40C) = %LA OB

N ZAOB #HEM, A&

. /MON = %LAOB = 45°
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